1. Popuni tablicu:

	Umanjenik
	917 654
	
	257 302
	42 305

	Umanjitelj
	
	56 724
	
	

	Razlika
	123 456
	95 327
	172 107
	 2 484






2. Od zbroja brojeva 56 143  i 104 999 oduzmi razliku brojeva 47 732 i 32 528. 





3. Pismeno oduzmi:  a)896 698 i 492 499
	  	
                              b)591 100 i 6 7622
	
                              c)321 465 i 78 967

4. Izračunaj  x: 

[bookmark: _GoBack] a)3 628  +  x = 17 956               
 b) x  +  4 587 = 7 358             
 c) x  -  42  325 = 24 570            
 d) 286 538  -  x = 53  624


